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2010 State Fair Stockmens Contest - Senior Quiz

_____
1. In which part of the reproductive tract does fertilization normally occur?


a. Cervix
b. Vagina
c. Uterus

d. Oviduct

_____
2. Which grass species if often infected with an endophyte fungus, which can have negative effects on animal performance?


a. Orchardgrass

b. Tall Fescue

c. Timothy

d. Bluegrass

_____
3. Which type of test is not a normal part of a Breeding Soundness Exam for a bull?

a. Physical examination

b. Measurement of Scrotal Size

c. Semen Evaluation

d. Blood test

_____
4. Lambs and calves are born with a functioning rumen.


a. This statement is True

b. This statement is False

_____
5. Various toxins which cause problems in corn, such as Vomitoxin and Aflatoxin, are caused by which organisms?


a. Bacteria

b. Viruses
c. Worms
d. Molds

_____
6. The blades on a set of sheep shears are called what?


a. rake and cutter
b. comb and brush
c. top and bottom blades
d. cutter and comb

_____
7. One milliliter (ml) equals how many cubic centimeters (cc)?


a. 1

b. 2.2

c. 10
d. 25.4

_____
8. Which of the following feeds is higher in energy and lower in protein content on a dry matter basis?


a. Alfalfa pellets
b. Molasses

c. Wheat Midds

d. Barley Silage
_____
9. In cattle, what is the name of the nutritional disease caused by overeating, and which results in sore feet and excessive hoof growth?


a. Founder

b. Grass Tetany

c. Arthritis

d. Mastitis

_____
10. Bloat is the build up of gas in which part of the bovine digestive system?


a. Esophagus

b. Small Intestine

c. Rumen

d. Abomasum

_____
11. The fat measurement used in calculating the percent lean or fat-free lean index in hogs is taken where?


a. First rib
b. Tenth rib

c. 12-13 rib

d. Last rib

_____
12. What is the recommended minimum acceptable scrotal circumference for a yearling bull?


a. 26 cm
b. 30 cm
c. 30 inches

d. 36 cm

_____
13. What is the proper location for administering growth-promoting implants to cattle?


a. Tailhead

b.Rump

c. Ear
 
d. Neck

_____
14. Vitamins A, D, E, and K are fat-soluble vitamins.  Vitamin K is involved in which process?


a. Growth of teeth and bones

b. the immune response


c. Blood-clotting


d. Reproductive efficiency

_____
15. If the average weaning weight for a herd is 500 pounds, and the weaning weight for calf number 146U is 450 pounds, what is his weaning weight Ratio?


a. 90

b. 95

c. 105

d. Not enough information to calculate

_____
16. You want to feed 1000 pounds of dry matter from corn silage to a group of steers each day.  How much real silage do you provide to these steers if the silage is 33% dry matter?


a. 330 pounds

b. 1000 pounds

c. 1033
pounds

d. 3000 pounds

_____
17.What is the major product made from corn which has distillers grains as the feed byproduct?


a. Beer
b. Corn sweeteners
c. Ethanol (used as a gasoline additive)
d. Corn Meal

_____
18. Which government service or certification is required if you want to sell meat products to the general public?


a. Grading

b. Inspection

c. Health Certificate
d. College degree

_____
19. Which hormone can be effectively used to synchronize estrus in cows and ewes if used properly?


a. Estrogen

b. Progesterone

c. Oxytocin

d. Growth Hormone

_____
20. What is the major difference between a beef carcass grading Choice and one grading Prime?


a. carcass weight
b. ribeye area
c. amount of marbling

d. fat thickness

_____
21. Which one of these wholesale cuts is found in all 3 red-meat species?


a. Round

b. Loin

c. Rib

d. Chuck 

_____
22. Curly calf is the common name of a condition found in Angus cattle which has been found to be a simple recessive genetic disease.  How many copies of the Curly calf gene must an animal possess in order to express the Curly Calf condition?


a. None

b. One

c. Two

d. Five

_____
23. Roundworm parasitism affects cattle, sheep, and pigs.  What do you administer to the animals to prevent the problem?


a. Vaccine
b. Antibiotic

c. An ionophore, such as Bovatec


d. None of these is effective against the problem

_____
24. A pork carcass weighs 210 pounds, has 0.05 inch of backfat and a loineye area of 9.5 square inches.  For the packer and processor, this carcass is


a. Too big
b. Too fat

c. Too lean

d. Ideal

_____
25. When does ovulation occur relative to the beginning of estrus?


a. Before
b. Same time

c. After

d. They are not related

